

Notes KK(10)

$$D \wedge (D \wedge T^a)$$

$$= D_\sigma D_\mu T^a_{\nu\rho} + D_\mu D_\nu T^a_{\rho\sigma} + D_\rho D_\sigma T^a_{\mu\nu} + D_\nu D_\rho T^a_{\sigma\mu} \\ + D_\sigma D_\nu T^a_{\rho\mu} + D_\mu D_\sigma T^a_{\nu\rho} + D_\rho D_\mu T^a_{\sigma\nu} + D_\nu D_\rho T^a_{\mu\sigma} \\ + D_\sigma D_\rho T^a_{\mu\nu} + D_\nu D_\sigma T^a_{\rho\mu} + D_\mu D_\nu T^a_{\sigma\rho} + D_\rho D_\mu T^a_{\nu\sigma}$$

$$= D_\sigma (D_\mu T^a_{\nu\rho} + D_\nu T^a_{\rho\mu} + D_\rho T^a_{\mu\nu})$$

$$+ D_\rho D_\sigma T^a_{\mu\nu} + D_\mu D_\sigma T^a_{\nu\rho} + D_\nu D_\sigma T^a_{\rho\mu}$$

$$= D(D \wedge T^a) + \dots$$

$$D \wedge R^a = D_\rho D_\sigma T^a_{\mu\nu} + D_\mu D_\sigma T^a_{\nu\rho} + D_\nu D_\sigma T^a_{\rho\mu}$$

$$= \alpha^b_\sigma (D_\rho R^a_{b\mu\nu} + D_\mu R^a_{b\nu\rho} + D_\nu R^a_{b\rho\mu})$$

$$D_\sigma T^a_{\mu\nu} = \alpha^b_\sigma R^a_{b\mu\nu} = R^a_{\sigma\mu\nu}$$

$$D_\sigma T^a_{\nu\rho} = \alpha^b_\sigma R^a_{b\nu\rho} = R^a_{\sigma\nu\rho}$$

$$D_\sigma T^a_{\rho\mu} = \alpha^b_\sigma R^a_{b\rho\mu} = R^a_{\sigma\rho\mu}$$

Riemann tensor <sup>or form</sup> can always be replaced by R tensor  
tensor or form.